@ HANSA - TMP .

HYDRAULIC COMPONENTS
HYDROSTATIC TRANSMISSIONS
GEARBOXES - ACCESSORIES

Certified 1SO 9001 and 14001 (.T“c") HT 130 /A 710870413/ E

SAAR

Variable Displacement
Open Loop Circuit Axial Piston Pumps

V Series




HANSA - TMP o ™ sl piston punps v series

Contents

Installation - General Information

Spare Parts

Features & Technical Characteristics

Order Code

Control Type

V 15 -V 18 Series Pump - Technical Specifications
V 15 -V 18 Series Pump - Installation Drawing

V 23 -V 25 Series Pump - Technical Specifications
V 23 - V 25 Series Pump - Installation Drawing

V 38 - V 42 Series Pump - Technical Specifications
V 38 - V 42 Series Pump - Installation Drawing

V 50 - V 70 Series Pump - Technical Specifications
V 50 -V 70 Series Pump - Installation Drawing
Tandem Pumps Installation Drawing

Piping Connections Flanges

HT 130/A/108/0413/E

o N o o

13- 20

22 -29
30
31-38
39
40 - 45
46
47 - 48

Pag. 3



HANSA - TMP s ™ sl piston punps v series

Installation - General Information

1 - Fluid recommandations

Premium quality hydraulic mineral oil fluids are recommanded, like H-LP oils to DIN 51542 part 2.

The oil viscosity range should be from 25 mm?/s to 50 mm?/s. Operating temperature from -10°C to 70°C are recommended.

For other fluids such as phosphoric acid esters or for other operating conditions please consult our Tech.Dpt.

2 - Seals

NB (Nitrile) seals are used for operation with hydraulic fluids based on mineral oil.

For synthetic, as perhaps phosphoric acid ester, Fluorocarbon seals are required.

For any assistance please consult our Tech.Dpt.

3 - Filtration

Contamination of the hydraulic oil may cause trouble with the pump and shorten its life.

For maximum pump and system componenet functionability and life, the system should be protected from contamination by

effective filtration. Fluid cleanliness should be in accordance with classification ISO 4406.

The quality of filter elements should be in accordance vith ISO standards

Minimum requirement for filtration rate:

General hydraulic system for satisfactory operation: Class 19/17/14 to ISO 4406 (Class 9 NAS 1638)

Hydraulic system with maximized component life and reliability: Class 17/15/12 to ISO 4406 (Class 7 NAS 1638)

It is recommended to use return or pressure line filter, a wide range of filters for all common application are available.

The use of suction filter should be avoided, especially with fast response pump.

Off-line filtration ia a good choice for the best filtering efficiency.

4 - Installation and mounting

Horizontal mounting: Outlet port, side or top; Inlet port, side or bottom; Drain port always uppermost.

Vertical mounting: Drive shaft vertically upward.

Install pump and suction line in such a way that the maximum inlet vacuum never exceeds 0,8 bar absolute.

The inlet line should be as short and straight as possible.

A short suction line cut to 45° is recommended when the pump is mounted inside the reservoir, to improve the inlet conditions.

All connections to be leadfree, as air in the suction line will cause cavitation, noise and damage the pump.

5 - Allignement and installation

Pump and motor shaft must be aligned within 0,25 mm. T.I.R max. A floating coupling must be used.

Please follow the coupling manufacturer’s installation instruction. Consult our Tech.Dpt. in event of radial load drives.

6 - Start-up

Prior to start-up, the pump case must be filled with clean system hydraulic fluid (use case drain port).

Do not operate the pump at full speed right away. Instead, turn the motor input switch on - off several times so as to extract air

from the piping, then operate it continuously.

Initial start-up should be at zero pressure with an unloaded circuit to enable the pump to prime.

Pressure should only be increased once the pump has been fully primed.

Attention: Check the motor rotation direction.

Operating noise of pumps

The normal operating noise of a pump and consequently the operating noise of the entire hydraulic system is largely determined

by where and how the pump is mounted and connected to the hydraulic system.

Also size, style and installation of the hydraulic tubing have a major influence on the overall noise emitted by a hydraulic system.

Noise reducing measures

Flexible element help to prevent pump body vibration being trasmitted to other construction elements, where possible

amplification may occur. Such element can be:

1 - Floating and flexible coupling.

2 - Damping rails.

3 - Or silent block for mounting the electric motor or the foot mounting flange. O I ; . =

4 - Flexible tube connections (compensator) or hoses for inlet, outlet and drain port.

5 - Exclusive use of gas tight tube fittings for inlet connection to avoid air entry
causing cavitation and excessive noise.

7 - Drain line [\ 1

The case pressure must not exceed 0,04 MPa (0,36 bar).

The drain line must be connected directly to the reservoir without restriction and must not be connected to any other return line.

The end of the drain line must be below the lowest fluid level in the reservoir and as far-away as possible from the pump input line

to ensure that the pump does not empty itself when not in operation and that the hot oil will not recirculated.

For the same reason, when the pump is mounted inside the reservoir, the drain line should be arranged in such a way that a siphon

is created. For drain line size and lenght refer to the table below.

Pump model V15-V 18-V 23 -V25 V38-V42 V 50 - V70
Pipe joint size 3/8" 172" 3/4"
Pipes internal diam. > 12 mm. > 15 mm. >18 mm
Pipes lenght <1m.

Pag. 4 HT 130/A/108 /0413 /E



HANSA - TMP o ™ sl piston punps v series

V Series Axial Piston Pump - Spare Parts (pump body)

HT 130/A/108/0413/E Pag. 5



HANSA - TMP s ™ sl piston punps v series

V Series AXIAL PISTON PUMP

FEATURES

The latest design in the proven V Series, medium pressure, open loop system variable
displacement pump has been developed for the mobile and industrial market where low
noise, high overall efficiency, excellent controllability, extended pump life and high
reliability are all considered essential.

The features such as high efficiency, compact design, long life and a wide range of control
options allow each of the V Series units to be easily matched to any application.

Specially designed for the noise-critical application, its rigid and compact structure
reduces air borne noise emissions. All noise reduction features of the V Series provide a

typical reduction of 6dB(A) compared with conventional designs.

Technical Characteristics

Delivery under unloading conditions Input Speed range
Pump LTS Displacement 2/ It/min 9 . Pressure P n';min 9 Weight
pressure 3 . adjustment range -
model bar cm®/n bar kg
1.500 n/min. 1.800 n/min. min. max.
V15A 250 15,0 22,5 27,0 13,0
V18 A 250 17,8 26,7 32,0 13,0
V23 A 250 23,0 354 41,4 22,0
V25A 250 25,0 37,5 45,0 22,0
V38A 250 37,8 56,7 68,0 26,0
V42 A 250 42,0 63,0 76,0 26,0
1:8-70
V50 A 210 51,5 77,2 92,7 - 15 55,0
Ziw 500 1.800
V70 A 210 69,7 104,5 125,4 ed 56,0
4:20-250
VI5A+V15A 250 15,0 + 15,0 22,5+22,5 27,0+ 27,0 28,5
V23A+V23A 250 23,0 + 23,0 35,4 +354 414+414 46,5
V3BA+V15A 250 37,8+ 15,0 56,7 + 22,5 68,0 + 27,0 41,5
V38A+V38A 250 37,8+ 37,8 56,7 + 56,7 68,0 + 68,0 54,5
V70A+V15A 210 69,7 + 15,0 104,5+22,5 125,4 + 27,0 71,5
V70A+V38A 210 69,7 + 37,8 104,5 + 56,7 125,4 + 68,0 84,5

Pag. 6 HT 130/A/108 /0413 /E



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V Series AXIAL PISTON PUMP
ORDER CODE

V] 15 |A] [1] |R] |B

S

A0l ID|[X]|A]|1001

L

Pump Series V

Max. Displacement (cm?/n):
15, 18, 23, 25, 38, 42, 50, 70

Pump Control Type (See pages 14-17):

A - Pressure Compensator Control

B - Multi stage flow-Single stage Pressure Control
(with cylinder)

C - 2 stage Pressure & Flow Control
CG - 2 stage remote Pressure & Flow Control
D - Solenoid controlled Pressure Compensator

with unloading device
DG - Solenoid controlled Pressure Compensator
with unloading & remote device

E - Dual Pressure Control
EG - Dual & Remote Pressure Control
F -2 Flow - 2 Pressure Pressure Control

by Solenoid Operated Valve
FG - 2 Flow - 2 Pressure Pressure Control
by Solenoid Operated & remote Valve
G - Remote Pressure Compensator Control
GJ - Proportional pressure with interface NG6
GM - Remote interface (pilot valve not included)
—] HL* - Load-sensing Compensator
HJ - Load-sensing & Proportional Electro-hydraulic
Pilot Relief Valve
HK - Proportional Electro-hydraulic Load-sensing
Control
HQ - Load-sensing & Proportional Flow Control

* HL Compensator Pressure setting:

none - Standard pressure 0,7 MPa (7 bar)
B - Medium pressure 1,4 MPa (14 bar)
(o3 - High pressure 2,1 MPa (21 bar)

Pump Pressure Setting:
1-0,8-6,9MPa (8 -70 bar)
2-1,5-13,7 MPa (15 - 140 bar)

3-2,0-20,6 MPa (20 - 210 bar)
4-2,0-24,5MPa (20 - 250 bar)

Shaft Rotation (view from shaft end):

R - Clockwise rotation (Right)
L - Counter Clockwise rotation (Left)

Direction of Pipe Connection:
none - Side port (Standard)
B - Rear axial port

|

Customers
demand

Links Type (only V 15-18):
none - Standard
A - SAE A 2 bolts

Design Number:
X = Standard

Y = Low pressure
Z = |dling Relief

Rear Flange:

none = single pump

C =SAEAA, @ 50,8 mm.
D =SAEA, & 82,55 mm.
E =SAEB, ¥ 101,6 mm.
F=SAE C, & 127 mm.

I = Metric, @ 63 mm.

J = Metric, @ 80 mm.

K = Metric, @ 100 mm.
L = Metric, @ 125 mm.

Threads Code:

10 = PT (Pipe tape)

40 = BSPP (G)

50 = NPT

60 = SAE (O Ring Flange)
70 = M (Metric)

Electric Supply (only for electric control devices):
A=100VAC-50/60Hz
B=110VAC-60Hz
C=200VAC-50/60Hz
D =220V AC-60Hz
E=12V DC
F=24VDC

Mounting Shaft and Type:
none - Parallel shaft with key
S * - Splined shaft SAE J 498 b

* V15-V18 S z=13-16/32DP
S,z= 9 -16/32DP
S,z=11-16/32DP

* V23-V25-V38-V42
S z=13-16/32DP
S,z=15-16/32DP

* V50-V70 S z=14-12/24DP
S,z=17-12/24 DP

HT 130/A/108/0413/E

Pag. 7



HANSA - TMP s ™ sl piston punps v series

FUNCTIONAL DESCRIPTION OF REGULATOR

Control Type Hydraulic Symbol Control Curve

A - Pressure compensator control

1 - When system pressure increase
and reach preset pressure the flow
decrease automatically and pressure
maintain without changing.

2 - Flow and pressure can be adjusted
manually.

0 —

B - Multi-stage flow & single-stage
pressure control (with cylinder)

1 - Flow can be adjusted form zero to
maximum and pressure can have been
maintaining at preset pressure.

2 - Absorbing impact and vibration which are
produced by up and down motions of
actuators.

It is suitable for lifting equipment etc...

0—>

C - Two-stage pressure & flow control

1 - Low consumption electric motor can be
selected to save energy because of the
functions of high flow at low pressure and low
flow at high pressure.

2 - When pressure increase and reach preset
pressure "PH" , flow is reduced to "QL".

3 - Pressure "PH-PL"and Flow "QH QL" can
be adjusted optionally.

4 - It is applied to actuators requiring long
unloaded or short loaded strokes.

Speedy and horse-power efficient.

CG - Two-stage remote pressure & |
flow control |
1 - The same function of "C" control type. |
2 - The pressure range can be adjusted |
I
|

remotely by the integrated remote pressure
control valve.

] ?@z'g PL PH
1 . p —
control can be applied with proportional valve. - S

3 - Proportional Electro-Hydraulic pressure

Pag. 8 HT 130/A/108 /0413 /E



HANSA - TMP

AXIAL PISTON PUMPS V SERIES

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

FUNCTIONAL DESCRIPTION OF REGULATOR

Control Type

Hydraulic Symbol

Control Curve

D - Solenoid controlled pressure
compensating control with

unloading device

1 - Same as Type "A" and unloading function
added.

2 - It is applied to systems requiring long time
unloading operation.

3 - When solenoid is turned off, the pump
operates under unloading conditions.

This results in less noise and heat
generation.

T

I'soL OFF SOL ON
1

DG - Solenoid controlled pressure
compensating control with

unloading & remote device

1 - The same function of "D" control type

2 - The pressure range can be adjusted
remotely by the integrated remote pressure
control valve.

3 - Proportional Electro-hydraulic pressure
control can be applied with proportional valve.

T

I'soL OFF SOL ON

E - Dual pressure control

1 - High and low pressure can be controlled
by switching directions of solenoid control
valve.

2 - This type is applied to actuators
requiring 2-stage pressures with single
speed.

3 - One of "PL" and "PH" relief valves can
optionally be high pressure.

SOL OFF SOL ON

PL PH
p ——>

EG - Dual & remote pressure control

1 - The same function of "E" control type

2 - The pressure range can be adjusted
remotely by the integrated remote pressure
control valve.

3 - Proportional Electro-hydraulic pressure
control can be applied with proportional valve.

=

SOL OFF SOL ON

PL PH
P —_—

HT 130/A/108/0413/E

Pag. 9



HANSA - TMP s ™ sl piston punps v series

FUNCTIONAL DESCRIPTION OF REGULATOR

Control Type Hydraulic Symbol Control Curve

F - Two flow - Two pressure p.c. by
solenoid operated valve

1 - Actuators can be shifted slowly

(high pressure low flow) and quickly

(low pressure high flow) by switching
directions of solenoid control valve.

2 - This type is applied to actuator requiring
operations to shift speed from high to low or
low to high.

3 - Pressure "PL, PH" and flow "QL, QH" can
be adjusted optionally.

SOL OFF

QH
SOL ON

QL

PL PH

FG - Two flow - Two pressure p.c.

by solenoid operated & remote valve

1 - The same function of "F" control type.

2 - The pressure range can be adjusted
remotely by the integrated remote pressure
control valve.

3 - Proportional Electro-hydraulic pressure
control can be applied with proportional valve.

QHISOL OFF
L}

QL SOL ON

G - Remote pressure compensator control
1 - The same function of "A" control type.

2 - The pressure range can be adjusted
remotely by the integrated remote pressure
control valve.

o —>

GJ - Proportional pressure with interface
1 - The same function of "GM" control type
and proportional valve added.

2 - The proportional valve is installed on the
NG 6 interface to reach proportional
electro-hydraulic control to save energy.

GM - Remote interface (valve not included)
1 - GM control with a NG6 interface, supply
an installation for pilot valve to prove the
operating pressure.

The pressure setting can be set directly from
the control panel of the machine.

2 - The remote pressure compensator
responds faster and offer more stable
pressure.

3 - The adjustment can also be manual or
proportional pressure control.

Pag. 10 HT 130/A/108 /0413 /E



HANSA - TMP o ™ sl piston punps v series

FUNCTIONAL DESCRIPTION OF REGULATOR

Control Type Hydraulic Symbol Control Curve

HL - Load sensing compensator control

1 - The pump outlet can be controlled by the
setting pressure value of control valve.

An ideal energy conservation system can be
configurated by combining the proportional
directional control.

2 - When setting pressure value, flow is
changed depending on the throttle valve.

The sensing flow feedback function can reach
to low oil heat generation and saving energy.

o —

HJ - Load sensing & proportional electro-
hydraulic pilot relief valve

1 - The same function of "HL" and
proportional function added.

2 - Supplied with proportional
electro-hydraulic pilot relief valve can reach to
power saving.

HK- Proportional electro-hydraulic
load sensing control

1 - This control type supply the system
pressure and flow depending on the I
proportional pressure and flow, voltage and
load value to save energy. When in waiting
circle, the outlet displacement and
horse-power loss are close to zero.

When pressure reaches to preset value, the
flow decrease to the min. and the pressure is

constant to reach low oil heat generation and I T
energy loss.

2 - HK control type can save 30-50% energy
compared to vane and gear pump + PQ
valve. It is an energy saving and
environmental design.

I
I
|../l
--r-
o
[ |
él}
]
.
]
]
I
I
-1

fraprm
i
od
3
o
R

HQ - Load sensing proportional

flow control

1 - The same function of "HL" control type and
proportional flow function added.

2 - The proportional flow control allows the
adjustment of the pump output flow with an
electric input signal.

Pump flow rate are controlled proportionally
to the input current to the control device on
the pump and the input current is regulated
by the specific amplifier.

HT 130/A/108/0413/E Pag. 11



HANSA - TMP s ™ sl piston punps v series

V 15 -V 18 Series Axial Piston Pump - Technical Specifications

Typical performance characteristics

Noise level* atditance of 1 mt. from pump*
*Input speed: 1,800 n/min 5 PP

*QOil: ISOVG32 ‘n
*Qiltemperature: 50°C 800 P
—— 70Kg/cm?
— — 35Kg/lecm? —~ 70 o
N in
5 30 g '5Q\>0® ,\‘500M/‘
Z © 'al"'d\ ' \
o = W Pt :
w 20 o 65 !
S T | o 1
oo ' ® | '
8 &J 10 // g O/ '
E / =z 60 €-cutoffperipd
<
g o T
=
i 55
3 6 9 12 15 18 21 24 0O 34 69 103 13.7 17.2 20.6 245
HOUR (Hr) (35) (70) (105) (140) (175) (210) (250)
— Pressure MPa (kg/cm?)
. =
c X
OJ —_
General performance sE:
. . ~ @© .
characteristics a8 & Dead head shaft input
100
Vplumettic efficiency T T
90 .
1 E— _ y.
—~ 80 L~ Qverall fficiency E 2.0 /
X 7 // 354 14 = /
~~ >
> i o
e €0 Displacement / 80712 £ 15 //
O 50 /' S 25 4 10 = —
£ 4 SN 20 | 8 £ 10 -
= L~ ) AR 23,4 types
w ~ 1516 ]
30 // 5 -
T 20 - 10 - 4 0.5—= rtype
/ A T — -
10 \r_pu_t_EOF_“"‘_“_“ ey 572 =~ RV type
0034 60 105 137 172 206 245 ° |° 0032 69 103 157 172 206 245
(35) (70) (105) (140) (175) (210) (250) (35) (70) (105) (140) (175) (210) (250)
— Pressure MPa (kg/cm?) — Pressure MPa (kg/cm?)
Shaft input characteristics Drain volume characteristics
15
— E 2.0
E ?E/ 2,3]type
= 10 @ / Q15 Y PC périod
a 66\\‘(\\\(\ L g 1 type P ? PC period Ppc ¢
c L @,y = — f 'JIPC period
= N0 L1 [¢) peri
e Py e S 10
2 S = . £ T’Cp iod )
n A o] ©
t / 1+ | Q os
4/ s6lmin || T )
0
0 34 69 103 137 172 206 245 0
(35) (70) (105) (140) (175) (210) (250) 0 34 69 103 137 172 206 245

(35) (70) (105) (140) (175) (210) (250)

— Pressure MPa (kg/cm?) —> Pressure MPa (kg/cm?)

Pag. 12 HT 130/A/108 /0413 /E



HA“SA : TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 15 -V 18 Series Axial Piston Pump - Installation Drawing

V15 A -V 18 A Pressure Compensator

INC.
Picw Adjustiiant 196.8 44.5 Pressure Adjustment
38 [J4.7638 “**x32
Drain Port.G 3/8° 18

Filling Port

4-011

2-M12xP1.75

21.15-B.1s

©19.05.B 025

p1:

Sra3,
35.1
e
1 1
D
i +H j
| =
©82.55 -85
L)
1

60

4-M8><20—/ T \
35.1 13 190

L1}
# 147 105.6
131
173 Qutlet @25 Inlet ®25

165

V15 A -V 18 A Pressure Compensator (SAE A two bolt)

ViEOOO0O00—-00003 @

INC.
Flow Adjustment } 196.8 2343 Pressure Adjustment

48 1 0, 025
O Drain Port:G 3/8" b D4.763% *x32

Filling Port

1 O
3
i
{+1]
21.15 Ss

o :_(2;: |
— 8 o @
3 < 1 i / z of & Rk

By of o F < g1 q )

! = H — u 1

n_{ o J o
b4 & ai [h a
T . F¥3 % g
R 4-Maxzu—// e | 1
®25 a5.1 13

147 T 105.6
173 131 Inlet @25
Outlet ©25 165

V 15 B -V 18 B Multi-Stage Flow & Single - Stage Pressure
Compensator Control (with cylinder)

()

INC.
f 374 45 Pressure Adjustment

[14.7618 "**x32

48
18

2-M12xP1.75

I
Q
yk
jé
E
019%
21,1585
F -9
1
6

il
@
@f

35.1
=t
)—#
& 14
!
©82.55 805
F—h
ey |

D25 )4
I__
1

4-M81¢2D—/

60

35I.1 A_L__j_a _M \\

147 105.6
131
173 Outlet ®25 165 Inlet ®25

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 20. 6‘@

HT 130/A/108/0413/E Pag. 13




HANSA - TMP s ™ sl piston punps v series

V 15 - V 18 Series Axial Piston Pump - Installation Drawing

V15 C -V 18 C Two-Stage Pressure & Flow Control Type

2-M12xP1.75
O Low Flow Adjustment | 270 44.5

N FC INC.
S ) Filling Port Low Pressure Adjustment
C.  High Flow Adjustment Drain Port:G 3/8" 4 14,768 °25¢32 PC
14, . X

58 0 %32 .

| o |
K
4 -
® 0[] &N 9

High Pressure Adj
© ©, ®25 —
|

V4 Y
4-MBx20—| | n 90 )
131 35.1 e 13 105.6
147 131
185 Outlet ®2 Inlet ®25

165
V15 CG -V 18 CG Two-Stage
Remote Pressure & Flow Control Type s

High Pressure Adjustment

21.15-81s

©19.05-8 008

211

101.6

®82.55-00s
— e

60

o]

Warning:
don'tadjust | 5 pressure Adjustment
O Low Flow Adjustment 270 Remote Pressure Port:PT1/4 ju
DEC. 44.5 Filling Port
High Flow Adjustment Drain Port:G 3/8"
o 2 [14.76:8 %% x32
o 18
8 8l = 4-0 11
' e 3l 2-M12xP1.75
wy w
\ mm Q - @
I i o « - ]
bt R [T -
= J ) Y o bl
| =¥ L L -
b 2 ' _L =
= 3{ Al 1 —] b =) -1
o
(<] [=]
o2s—| /1] | B N i+ A 3
1
4-M8x20-| igo \
35.1 13 i
147 105.6
131
185 Outlet ®25 165 Inlet @25

V15D -V 18 D Solenoid Controlled Pressure Compensating
Type with Unloading Device

2-M12xP1.75

FC
Low Pressure Adjustment

DEC. Flow Adjustment 276

Filling Port
Solenoid control valve Drain Port:G 3/8"
-\ [14.7610 "*5x32
48_|44.5
o 18
O | 6 ] e
o faausl
I

025 — il

PC
High Pressure Adjustment

- ()

INC.

©19.05-8.005
21.15-81s
E-9
]
a

.
;.\\

A
@
=

2

57.45
35.1 I
A
"’E
1 |
[ i1
[
082 55845
1!
11
6
1

T
4-MBx20—| 180
35.1 13 105.6
147 1
185 Outlet @25 12 Inlet @25
165

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 20. %@

Pag. 14 HT 130 /A/108/0413/E



HA“SA : TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 15 - V 18 Series Axial Piston Pump - Installation Drawing

V 15 DG - V 18 DG Solenoid Controlled Pressure Compensating
Type with Unloading Device & Remote

FC
Low Pressure Adjustment

276
; PT1/ Filling Port / PC
Solenoid control valves rain Port:G 3/8" Remare Pressye Pt PTLS f High Pressure Adjustment
: e Warning:
Flow Adjustment \Q: O o 48_|44.5, [14.76:8 %32 ol don't adjgst
- ]
O 18 gl w L
T 6 |/ =] = 4-011
w| @ TN 2-M12x1.75
Peansl - -
DEC. [ T 2 & Bl o @
= N In e b e - =
< =
:;'] - 17 3
A Y I h 2
n}: b &
o025 — V[ 1 S U
s-mex20— R
35.1 |13 (190
147 105.6
185 Outlet ©25 131 Inlet ®25
_— 165 _———
V 15 E -V 18 E Dual Pressure Control
FC
276 Low Pressure Adjustment
. Filling Port PC
Sulenondlcunlrel valves i : . High Pressure Adjustment
Flow Adjustment N\ [14.7613 %32 O
3.5 ol INC.
1 e 4-011 i
] iy 3
£ 2-M12x1.75
e - = w
~ E S
o5 - *
w
8 L
o
@, o
8 @

4-M8x20 / I

T
35.1 13 190
147 105.8
131
185 Qutlet ®25 Inlet ®25

V 15 EG -V 18 EG Dual & Remote Pressure Control

FC
Low Pressure Adjustment

276 Filling Port
. 4 2 Pc
Drain Port:G 3/8" Remote Pressure Port:PT1/4 \ || High Pressure Adjustment
Flow Adjustment Warning:
! g O o 48 l4a5, Dazemorxaz |V don't ad,-ﬂs.
18 w
= I e | /5| 5| 4=o1 ]
O & | i w| o N 2-M12xP1.75
T S = V-]
=l = i / >
DEC o ]l T / 2l & 2l -
) - * - o = L -
= ol & :I— -
d) g : — L - T
® ® % -1 [P —L s i
w - b ey uy 5
at [10] =1 &
— —_— # o
= — S
©25 | r
® 4-M8Bx2 ;
©) 35.1 ‘ 13 LIg0
147 . 105.6
131
131
185 Outlet ©25 6 let ©25

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 20. %@

HT 130/A/108/0413/E Pag. 15



HA“SA - TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 15 -V 18 Series Axial Piston Pump - Installation Drawing

V15 F -V 18 F Dual Pressure & Flow Control Type
by Solenoid Operated Valve o

Low Pressure

Adjustment
Solenoid control valves

PC
—\_ in Port:G 3/8" Filling Port St Pava e
O 278 M3 La e a2 /
DEC. High Flow Adjustment |\ 48 — O
— - O 18 .' ] 3
=

INC.

33

2-M12xP1.75

©19.05-foas
21.15-01s
+
e

M~

210.6

11°§?
101.6

57.45
1
|
@
J?__' (e e

il
i

;2 i Rt ot
o) ,'{xj"
025—| /
4-M8x20—/ ‘ g0 |
35.1 | {13 105.6
147 131
185 Qutlet ©25, 165 Inlet ®25

V 15 FG -V 18 FG Dual Pressure & Flow Control Type

FC
by Solenoid Operated & Remote Valve here ag
noi Iy Remote Pressure Port:PT1/4 Filling Port PC

High Pressure
276 Adjustment
[l4.76:0 "x32 Warning:
don't adjust
gl o 4-11
ol i 2-M12xP1.75
ol = - (— ©
g S IS = b
GEI rq -
8 §i
od ~ Q
025— a1 \ =
4-m8x20/] Cio
35.1 ia =
— 105.6
147 131
185 Outlet ®25 o Inlet ®25

V 15 G -V 18 G Remote Pressure Compensator Control

Drain Port:G 3/8°
Pressure Adjustment
1 196.8 J4.5

Warning:don't adjust
DEC. Flow Adjustment

[14.7618 ***x32

i |
>
mm
21.15-f1s
¥
i
|
i |

@
=1
- 2 o
“j e o
b T
o 1D = B~ —
14 4§ %
A :!' == — b bk
4-M8x2i

131 Q25— 35.1 —J—-.-—La

147 1

185

Outlet ©25 181 Inlet ©25

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 20. %@

Pag. 16 HT 130 /A/108/0413/E



HA“SA : TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 15 - V 18 Series Axial Piston Pump - Installation Drawing

V 15 GJ - V 18 GJ Proportional Pressure with Interface

196.8 44,
- - 40
48 Proportional Solenoid —— _
bec. Flow Adjustment Pressure Compensator _Pressure Adjustment
ey 18 _ Warning:don't adjust
- Drain Port:G 3/8" | | e
D| ll 1[—1]// (14.76:8 “*x32 Filling Port
g - ),
O E \ o] ad 4-011 2-M12xP1.75
Q i 6 al 2 8 3 i
ol = [ ol 5 g o
© W i 3 =
o — o -
Y - (=]
EI 0 = 5
{121 - '—‘?f,\'*' - a = E
3 . o
1 o
AR R . =
4-MBx20 190
25 35.1 13 105.6
147 Outlet ©25, 131 Inlet ©25
173 165

V 15 GM -V 18 GM Remote Interface (valve not Included)

NGE
oo + , + _
E 3 Pressure Adjustment
00 + " + Warning:don't adjust
O & 196.8 445,
Drain Port:G 3/8" [14.76:8 "°x32 40
DEC. Flow Adjustment 48 Q. p—— Filling Port
18 od| oF ——
"']—'* 1 2-M12xP1.75
o i \ lte8 |/ & @
-t t CE
© ¥
- &l
© @] o = | g i
- & 19

L e = pocs SN il B = 9

) >)‘ i

| -4;: o

® ® _/ il ___ 1 oY
. a-mexzo—/ | M s
131 025 35.1 13 105.8
147

= Outlet ®25 131 Inlet ©25
s 165 M

V15 HL - V 18 HL Load-Sensing Compensator

FC
Low Pressure Adjustment

' 196.8 4,
i y PC
O Drain Port:G 3/8" Load sensing Port:PT1/4 igh Pressure Adjustment
pec. Flow Adjustment I“Li' [14.7616 "*x32
13-_ ol . 4-011 1
g |/ =5| == 2-M12xP1.75
& : 8l 2 ¥
| — @ -
©) 2 = 5| & g o
(=]
© @] & QI { i 0 8
G 17 ~# o3
- = - K =y 8 = 1
| ol 1b47 4 o =
= o, L=}
@ T 6 / il ! AN |
L 1
T 4-MBx20 /| |_“I-90
13 =
131 25 3i114? 1 105.6
173 Outlet ©®25 131 Inlet @25
164.6

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 20. Wg—@

HT 130/A/108/0413/E Pag. 17



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V 15 - V 18 Series Axial Piston Pump - Installation Drawing

V 15 HK - V 18 HK Proportional Electro-Hydraulic Load Sensing Compepcsator

Low Pressure

. 278 Adjustment o rning:
Proportional Solenoid 96.5 44.5 : PC don't adjust
O Pressure Compensator I Drain Port:PT1/4 44 High Pressure ;
DEC. Drain Port:G afie' 47645 W5isn 4-011 Adjustment
ow Ad) s 4 Filling Port
18 g o
““‘E o3| o5 o 2-M12xP1.75
O = 1 *
@ =
i —— = k.
o & L &
I ) o | |' 3
? ©| | §-2 g ‘
L) | ke =
(®) =1
t Outlet - -
Threads code 13
131 76.2 10:PT(RC)1/2" -
40:G1/2" 1?13“0 285 151 Inlet ®25
50:NPT1/2"
224
V15 HQ -V 18 HQ Load-Sensing Proportional Flow Control
FC
Low Pressure
Adjustment
252 e e PC Warnir!g:
Proportional I - 24 (14,7618 ©25%32 4 High Pressure e
Flow Control Drain Port:G 3/8° — 4-m11 Adjustment
DEC, 5
i i 48 (1 s
Flow Adjustment Filling Port
18 8l w
P el -
6 ? : Pl \ 2-M12xP1.75
| af 2 Le -
@ > & o % W0
& L] a8 o EH_[ s
ol @ - o
) ® © | — I% r
~ @ es
1 0 > 1 : ‘
i~ S ol L == w
% | b @ @ o
®) ® ! el
T 1
- =,
Outlet 13 L190
131 B5 Threads code o= 105.6
10:PT(RC)1/21 140 85 131 Inlet ©25
40:G1/2" 173
50:NPT1/2" 233
V 15 -V 18 Splined Shaft Type V 15 -V 18 Hydraulic Flange
37.5 31.1
—----l—j & Outiet Inlet Inlet
— [135.1 50.8
B [135.1 24 [135.1 24
g i o S o
8 - © __ 4 © & L ®
= | —| n ® @
D ] =1 =] o
o e N
= A D~ B
22 S~ 13.5 Threads code ©24
10:PT(RC)3/4"
31.5 25.1 40:BSPP(G)3/4"

S:13TDP16/32

S51:9T DP16/32

50:NPT3/4"

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 20.

Pag. 18

HT 130 /A/108/0413/E




HANSA - TMP s * sl biston punps v series

V 15 - V 18 Series Axial Piston Pump - Installation Drawing

V 15 -V 18 Thru Drive Option SAE AA (spigot diam. 50,8)

KV I | N 3 I ®

: 186 243 INC.
Drain Port:G 3/8" Pressure Adjustment

DEC. 48
Flow Adjustment

[14.76:5 “*°x32

Filling Port
9T DP 16/32 @11

2-M12xP1.75

}——!;

21,15-01s

35.1
P —
L
+
i o —
Y
;L: .,
=
82.55 o5
160
Bl
L=

N
L —"—t—f
&0

2-MBxP1.25 / -
©50.8'3™ 4-M8x20 V5 D90
S— 35.1 |13

105.6
Outlet 131 Inlet
185 225 165 D26

2°pump C:SAE AA ©50.8

Type | A| B | C CG FG GJ |GM| HL| HK|HQ

G
O Q1O |Q|O 00| O] B O
Thru Drive Option

O
O
0
m
m
9}
M

V 15 -V 18 Thru Drive Option SAE A (spigot diam. 82,55)

KV I N N I O

INC.
O 185 44. Pressure Adjustment

DEC. Drain Port:G 3/8" 48 [14.76:8 "2%x32

Flow Adjustment 18 44 Filling Port
9T DP 16/32 - (] = 4-011
3 1 2-M12xP1.75

—\ ‘—! u% oo
i = 3 £ S ]
o . it b A :
< ' E ® _o g = ™ ™
¢ ﬂﬁ-3—€“ —J gl |t é——r
aLEE L o/ 5 | i
N II :I \

i
-
+0.0% 4—MBJ(20—/
©82.55% 5 / 35.1 J—-——13 1L6]§05
25 :
106.3
2-M10xP1.5 a1 Outlet 131 bided

185 225 | 185 \ 225

2°pump D:SAE A ©82.55

Type Al B|C|CG| D|DG| E |EG| F |FG| G |GJ|GM| HL| HK|HQ
O OO0 [0O|0O O|O|O|O|]0O]|0O
Thru Drive Option
Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 20. 6‘@

HT 130/A/108/0413/E Pag. 19



HANSA - TMP s ™ sl piston punps v series

V 15 -V 18 Series Axial Piston Pump - Installation Drawing - Shaft Option

Parallel Shaft

44,5
40
34,76 x32
é
au
Yo ;
J
i | g % 7,%,7
© |
?19,00 4us
6
Splined Shaft Spline Characteristics
Splined shaft type S SAE J 498 B
13 theet
16/32 DP
U ﬂ Involute spline 30°
1 1 1 ¥ o Splined shaft type S1  SAE J 498 B
a0
S 9 theet
16/32 DP
Involute spline 30°
Splined shaft type S2 SAE J 498 B
| 11 theet
16/32 DP
6 Involute spline 30°

Pag. 20 HT 130/A/108 /0413 /E



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

V 23 -V 25 Series Axial Piston Pump - Technical Specifications

Typical performance characteristics

*Input speed: 1,800 n/min
*Qil:ISOVG32
*QOiltemperature: 50°C

V 23 General performance
characteristics

100 - =
Volumetric gfficigncy
20 —
A Dverall efficigncy
80 V4
A

— 70
g /
=60 /
5]
g 30 Displagement
= T =
& 40 x
T ‘(\'\\9

30 <Y

- —
20 /,
10 inplk power|at fead
0 — =
[0} 3.4 6.9 10.3 13.7 17.2 20.6 245

(35) (70) (105) (140) (175) (210) (250)
—> Pressure MPa (kgf/cm ?)

V 25 General performance
characteristics

100 - —
Volumetric gfficiency

20 —
A1

80
)4

Overall gfficiency

§60 / Displadement
2 50
E 40 [ RS o /
30 y
20 —
10 Inpy qwer|at h_Ea_ﬁ
o —

3.4 6.9

03 13.7

17.2 20.6 24.5

(35)

10..
(70) (105) (140) (175) (210) (250)

— Pressure MPa (kgf/cm ?)

Dead head shaft input

=
=
=1
=
= 3.0
b=
< 25
T
5 20 =
T 1.5

1.0 2,3,4types

0.5 : Type

o
[0} 69 103 134 17.2 20.6 245

3.4
(35)

(7b) (105) (140) (175) (210) (250)

—> Pressure MPa (kgf/cm 2 )

H * :
Noise level* atdistance of 1 mt. from pump*
" 1 ggon/ ™
o'
. dexn® :
70 N\a*.-\\ﬁo\a s A
= == g
o) v
= F ke
@ 65 —
4 o— i
@ \ X
v PCcut-off period
260
55
[0}
[0} 34 6.9 10.3 13.7 17.2 206 24.5
(35) (70) (105) (140) (175) (210) (250)
—> Pressure MPa (kgf/cm ?)
. =
o __ =X
(I).E —
SE2
=
8 & V 23 Shaft input characteristic
— RN
7 ERE )
= N &) N
1 El 207 (<
50 4 25 £ VTS
i T 10 P
40 20 5 Al
3015 T
25410 s
105 /
0-0 % 6.9 13.7 20.6 24.5
(70) (140) (210)(250)
—> Pressure MPa (kgf/cm ?)
.
2Ez
R = V 25 Shaft input characteristic
2 &
22 45,0 I/min
20 41.41/min
7 315
] 2
5025 £
40 20 :_,ci’ 1
3015 T
25410 5
1045 /
0-o % 6.9 13.7 20.6 24.5
(70) (140) (210)(250)
—> Pressure MPa (kgf/cm 2)
Drain volume characteristic
= 16
§ 2,3 ATypeps
@ : .
S 12 PC period : . .
g 1type r PC pgriod r.c £ pgriod
© Derio
TD 0.8 PC pgriod /
0.4
J —
0037 65 103 137 172 206 245
(35) (70) (105) (140) (175) (210) (250)
—> Pressure MPa (kgf/cm 2)
HT 130/A/108/0413/E Pag. 21



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES
V 23 -V 25 Series Axial Piston Pump - Installation Drawing
V 23 A -V 25 A Pressure Compensator
" ) 293 . 58.5, ING. Pressure Adjustment
low Adjustment =
s ,_ﬂ%l— (16.35:8 §i x40
Drain Port:G 3/8" | e i & ag ——
| =3 .
FE— | 3 &
1 o o - |
I =3 =
- m 2 o
M FONERIER RN
0 = o T ]
— -4 = 8
@25 I 8y 1
182 a-M10x16/ —ptH=S2 *I"j Outlet ®25 146 inlet ®25
LEi - 182 -
200
V 23 B -V 25 B Multi-Stage Flow & Single-Stage Pressure
Compensator Control (with cylinder)
Pressure Adjustment
420 ,.58.5 O
51 ' .02
l-—--l18 [16.35-5 §ix40 INC.
S Drain Port:G 3/8" | ..i_.._g g @ Filling Port
= [ NE ]
HE——©- —&f 71 2 2
o T o &
{ <] oz 73 9 3 * @ 1
b 1T ~/ THI— = —=
=) € : :
Pt : .
28:2 *L‘j Outlet ®25 146 Inlet ®25
4-M10x1 170 = - —
200
V 23 C -V 25 C Two-Stage Pressure & Flow Control i
Low Pressure
Adjustment
Low Flow Adjustment ; 290.5 58.5 E‘;—;h Prissiie
O High Flow Adjustment l 2 Filling Fox ApaeNt O
DEC. 16 T
. [16.35§ §ix40 INC.
i o A= I
(=]
- 0 o 2 f
—— s ©
@ 1 I‘ §
&l L = z
S 12 @ = o
I i :
® - ® f | il | l
iR | 26.2 a‘»-ﬁ Outlet ®25 148 \_inlet &25
182 EEREE SR 170 182
205

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 29.
Pag. 22

HT 130 /A/108/0413/E

=D



HA“SA : TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 23 -V 25 Series Axial Piston Pump - Installation Drawing

V 23 CG -V 25 CG Two stage Pressure & Flow Control with Remote

FC
290.5 Low Pressure
= . . P‘;' " Adjustment Warning:
emote Pressure Port:PT1 s
O pa3lef5E2 Iﬁgh S— don't adjust
Low Flow Adjustment | =B Filling Port . i
DEC. DrainPort:6 38" | || o [16.35:8 §Ex40 Adjustment
High Flow Adjustmen
| k| '
o L :
J : [ o 8
n —F e ©|
2+ - — i &=
- l g -
o — el ==
o fany L\ | H = @
wl 025 _ L =
T
26.2 —-L-ﬁ 148
4-M10x16 T - Outlet @25 Inlet ®25
170
i 182
V 23 D -V 25 D Solenoid Controlled Pressure Compensating Type
with Unloading Device a5
Low Pressure
Adjustment O
: 297 283 PC
Solenoid Control Valves Drain Port:G 3/8" 5 s S High Pressure INC.
| . P [16.35 -0 §2x40 Filling Port Adjustment
DEC. Flow Adjustment \ 5 i
Qo[ [° i

25.08-8.15

©22.2 oas

o
3 —¥— M /
Y] DI
il —t

14

' 26.2 —.L-—

4-M10x16, - Outlet 025/ - \_intet @25
182

205 182

226

©101.6-0.0s

V 23 DG -V 25 DG Solenoid Controlled Pressure Compensating Type
with Unloading Device & Remote

FC
Low Pressure
7 Ad
2 =, Warning:
n Port:G 3/8" Remote Pressure Port:PT1/4 chh 5 don't adjust
Solenoid Control Valves igh Pressure
1 [16.35-5 88 x40 Filling Port Adjustment
Flow Adjustment \ 31 | 585
DEC. O o 18_ 1
C o e |/ B S N
| o &
- o~ O
| all w0
. o o
w e @
o 2 — = &
e =

©101.6-8.0s

e

_II—
o :{ i
i N I Was 1 d—— . e
o= o %f A i
L R |
I —4-——
26.2 14
. 4-M10x16 70 Outlet 25/ 146 Inlet ©25
182

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 29. 6‘@

HT 130/A/108/0413/E Pag. 23




HA“SA - TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 23 - V 25 Series Axial Piston Pump - Installation Drawing

V 23 E -V 25 E Dual Pressure Control

FC
Low Pressure
Adjustment

be ()
High Pressure

Adjustment INC.

Drain Port:G 3/8°
Flow Adjustment lE_c.I.e_n_a_d_C_o_mmJ_\La_\La [16.35 -3 §ix40 Filling Port
3 . l i -

9 § @
es| oo I
2 o g L
8 &
_ _| w0
I  — 8 :
Vil - . T
- 4< E} — = D
0|
i — A
7, __I_ 14 /
182 4-M10x1 1 28.2 Qutlet ©2 145 Inlet ©25
170 182
205

V 23 EG -V 25 EG Dual & Remote Pressure Control

FC
Low Pressure
297 | Adjustment
Remote Pressure Port:PT1/4 PC W{nnm_g:
; High P don't adjust
Solenoid Control Valve igh Pressure

DEG Flow Adjustment L Biain Bartaaies . 51| 585 w Filling Port Adjustment
r 1 o!

| a8 |
i Q0| l° I

o
8 . |
=0 -t—-h»a g = L
— ©
™ o
I ("] -
ol &
w L]
@l 2 @ 8w o~ 8
N?_‘l —_— - ol @ wl ™
o !
o I, - il
2

©,101.6-80g |

' —|
(D | I
il o J 7]
ol 025 THI=
l == 2
26.2 _.l_..._14
182 4-M10x16/ Outlet [ ©25 146 Inlet 0 ©25

170
205 182

-'-1).\.)'
o

V 23 F -V 25 F Dual Pressure & Flow Control by Solenoid Operated Valve

FC
Low Pressure
Adjustment
297 —t—20:3 PC
O Low Flow Adjustment Drain Port:G 3/8" 51I High Pressure INC.
= Adjustment
DEC. High Flow Adjust \SﬂlendeDntlol Valve | 18 [16.35-8 2 x40 Filling Port
ol |° Lo [/8 = ' ol
.0 l of 8 ¥
&i g -~
e o
S o 1 o - =
8 _I %lb; — 8 g ¥
© o ——— 5
ot O [ HHI= =
Hl ®25 ,..Lr\J
+ — 19

®101.6-Hos
T

l| - 14
182 4-M10x16 26'2”0 Outlet ©25/ 148 Inlet ©25

Notes: - Inlet - Outlet port are for standard rotation (clockwise)

- For shaft detail see page 29. %@

Pag. 24 HT 130 /A/108/0413/E



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V 23 -V 25 Series Axial Piston Pump - Installation Drawing

V 23 FG -V 25 FG Dual Pressure & Flow Control by Solenoid Operated

& Remote Valve

Low Flow Adjustment

DEC. High Flow Adjustment

WL

266

182

297

|

Solenoid Control Valve

Remote Pressure Port:PT1/4

FC
Low Pressure
Warning: Adjustment
don't adjust

PC
High Prassure
Adjustment

Filling Port

5. 58. -
BraliBaitaales a2t e?8:3  [16.35°8 fEx40
18
Q|O|1° o/,
o @
ol ©
N
)
B — & o
7] | E— 2 i
8 —] K
Uy 1L H=S @
PR N -
— 72} 7 =
[ HA—st
/ 26.2 a—L-—“—‘
4-M10x16 Qutlet ®25,
170 —_—
205

Inlet ®25

V 23 G - V 25 G Remote Pressure Compensator Control

293 ) Warning: Remote Pressure Port:PT1/4
116 don't adjust
5 58.5 Pressure Adjustment
DEC Flow Adjustment
r ' ‘ 18 [16.35-F $ x40
y 9 g = [ Filling Port
9| =4
ol @
- — ol ©
o w ”
i | u -
@ S—. I @©
L] - |_‘[_ m 1 B
w ——] oG
< fany 1. g <
s 0 J\; a
= ) =
ctigl 5 l
|
182 4-M10x16 - Outlet ©25 Inlet ©25
170 —————r S
182
200
V 23 GJ -V 25 GJ Proportional Pressure with Interface
223 "
=S|
Proportional Solenoid
Flow Adjustment 18 _ Pressure Compensator .
i _Drain Port:PT3/8 | - Pressure Adjustment
[16.35-3 x40 Warning:don't adjust
I 58. [ e
q & c.E O Filling Port
i o
{— — o |/ dl 2
e| & 8 3
S = Nlo
y = i ¢
@ S— o
= fan xom ©
NTo2s B s
— - @
=] @
— IS =% \
/ 26.2 A-L-—‘—" / 146
4-M10x16, Outlet ©2 Inlet ®25
170 SO LS
182
200

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 29.

HT 130/A/108/0413/E

SR

Pag. 25



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V 23 - V 25 Series Axial Piston Pump - Installation Drawing

V 23 GM -V 25 GM Remote Interface (valve not included)

Flow Adjustment

223

=il |

Drain Port:G 3/8"

NG&

00 + . +
N

90 + " +

Pressure Adjustment
Warning:don't adjust

[16.35-8 §& x40

9 w Filling Port
i 9 |/=|=
- RE
I o uy
| e— a| ™
] i
- — ] o
8 G— L
<
. i A s @
*} s PN @ z
= | Y 1 B
26.2 4—L-—1—4‘ 146
4-M10x1 170 Outlet @25 Inlet @25
200 182

V 23 HL - V 25 HL Load Sensing Compensator

182

Load Sensing Port:PT1/4

FC
Low Pressure Adjustment
s 223 oy e
| 116 High Pressure Adjustment
f > " 51 58.
Drain Port:G Iara [16.35 -4 §ix40 \
18
| Bl w ~ Filling Port
doie8 3| o3 ;
; og| 9 ©
I [ ol 8 9
| w| o W
I e ™ nl o
i ] 3 e
I | i
%
Fai _ pn w© J
Gole 5
ﬁq 1 &1
/ 26.2 .14
4-M10x1 ' 170 Outlet ©25 Inlet ©25
200 182

V 23 HK - V 25 HK Proportional Electro-Hydraulic Load Sensing Compensator

Proportional Solenoid
Pressure Compensator

()

DEC.

I 284

Drain Port:G 3/8"

116

51
18

FC
Low Pressure
Adjustment

Warning:
PC don't adjust
[16.35 4 & High Pressure
2

i
djustment

©22.2 805

160

200

Flow Adjustment
=
T §
h |9 ®®
— e . T
T <o
\_ | |
I
Outlet
Threads code i

10:PT(RC)3/4"

40:G3/4"
50:NPT3/4"

Proportional Flow Control

—--I—-.ﬁ

®101.6-8.0s

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 29.

Pag. 26

HT 130 /A/108/0413/E



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V 23 - V 25 Series Axial Piston Pump - Installation Drawing

V 23 HQ - V 25 HQ Load Sensing Proportional Flow Control

FC
F Low Pressure
272 dern:;g: Ad‘i'rjstmen‘:
116 [16.35-9 % x40 on't adjust s
Drain Port:G 3/8" 51_| 58.5 High Pressure
DEC. . Adjustment
|-
Flow Adjustment @ : . o -
: /99 |2
® 3 S @
=1 : S
- - O |9 LB e 317 =
@ g
® ® S o G
- C oH )
I — L w
. 248.2 - 4 _— ]
utlet 4.[,..._‘4
160

Threads code
10:PT(RC)3/4"
40:G3/4"
50:NPT3/4"

200

Propartional Flow Control

76.2

V 23 -V 25 Thru Drive Option SAE A (spigot diam. 82,55)
(K272 I N N | N I

Pressure Adjustment O

224 8.5, ooae-
9T DP 16/32 ) [16.35:8 BEx40 N
Drain Port:G 3/8 18 é i e S
DEC. Flow Adjustment | g ;’, i
| Nl o
ol
® @ = oy | M sl ®
NS A P = ey IR
- P
i T-HeH e :
~ T | ;-
ez, 5599 2-M10xP1.5 T .
26.2 —e 14
106 170 146
Links D:SAE A ©82.55 222 182
V 23 -V 25 Thru Drive Option SAE B (spigot diam. 101,6)

(V{72 I N | 3

224 58.5. [16.35-3 x40 Pressure Adjustment O
9T DP 16/32 51 o INC.
Drain Port:G 3/81 18 : .
& w Filling Port
O Flow Adjustment 9 | =5 =
I o 8
DEC. o Y S -
— E_ _l / g o
= = | — g o)
L- > i 3 L9 o
l TS =maE : =
- -8 ; g
9101.6'3% =3 [ - NS = i
. 2-M12xP1.75 26.2 ol a4
146 170 146
Links E:SAE B ®101.6 232 182
Type A| B| C|CG| D|DG| E |EG| F [FG| G |GJ|GM| HL|HK|HQ

Thru Drive Option

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 29.

HT 130/A/108/0413/E

Pag. 27



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

V 23 - V 25 Series Axial Piston Pump - Installation Drawing

V 23 -V 25 Axial Ports

O Pressure Adjustment

(X272 | N O =3l INC. 5
. 223 585 , [16.3579 x40
1
Flow Adjustment Drain Port:G 3/8" 18 o
- ‘.ﬁ U:
® ? (B — gl &
. - DEC. _ _ — g &
A U s 1| /—
‘““‘I k) }75 E‘{ “’I ‘ i EE
= - - @
O TH{TION = 5
Inlet—"| 26. L 26.2"—Outlet = ’7 e
Threads code - Threads code -
10:PT(RC)1" 66.6 10:PT(RC)3/4% 14
40:G1° 40:G3/4" 200
50:NPT1" 194 50:NPT3/4" | Vi
B:axial port 232 182
V 23 -V 25 4 Connection for Axial Ports
Pressure Adjustment O
. p=—" INC.
Vi3 1112 ]1—[0010] .
223 58.5 , p——ot DXTT
Cover Plate |
; 51 w Filling Port
Flow Adjustment Drain Port:G 3/8" g =
18] oo o =
——I—---—9 o 2
(@) (@ | § w o
DEC.
0O\ 0 e _ A —
T — - = A [ L— A8
d @ | 5 G © 3 &) @H A -
© © a1 R ¢
Inlet Outlet b i = gl
Threads code| Threads code - e
10:PT(RC)1" T 10:PT(RC)3/4" - —
40:G1" 40:G3/4" 26.2
S50:NPT1" 50:NPT3/4* = 14 146
200
Pipe code B2:4 connections for axial port 204 182
interchangeable for side and rear port) I 210
Type | A| B| C|CG| D|DG| E |[EG| F |FG| G |GJ|GM| HL|HK|HQ
Axial Port Option
V 23 -V 25 Splined Shaft V 23 -V 25 Hydraulic Flange
42.5
g Outlet Inlet
— 2.2 o 26.2 a2
g D @ © @
U = < %
8 1
=}
_— Threads code Threads code
20 10:PT(RC)3/4" 10:PT(RC)1"
40:BSPP(G)3/4" 40:BSPP(G)1"
33.5 S50:NPT3/4" 50:NPT1*

S:13TDP16/32
Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 29.

Pag. 28 HT 130 /A/108/0413/E



HANSA - TMP o ™ sl piston punps v series

V 23 -V 25 Series Axial Piston Pump - Installation Drawing - Shaft Option

Parallel Shaft

58,5
ol
- 26,34 %35
&i
7 e
iy}
qu}
9
S D T R Yy
ASS - |
T
DPLC,C bes
9
Splined Shaft Spline Characteristics
_| Splined shaft type S SAE J 498 B
13 theet
16/32 DP
Involute spline 30°
Splined shaft type S1  SAE J 498 B
VA I I 2 15 theet
o S 16/32 DP
Involute spline 30°

Splined shaft type S3 SAE J 498 B
13 theet (lenghtening)
16/32 DP
Involute spline 30°

HT 130/A/108/0413/E Pag. 29



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

V 38 -V 42 Series Axial Piston Pump - Technical Specifications

Typical performance characteristics

*Input speed: 1,800n/min.
*Qil: ISOVG32
*Qil temperature: 50°C

V 38 General performance
characteristics

100
20

—>Efficiency (%)
= N W b U O N ®
0O O © 0O © O O O O

Volumetric| efficigncy

_L—T Overall efficiency

/

£ Displacement
/
/ -
[ _
| S
=t

—

ahed
tdead
lnputpowe- a — ] —

3.4 6.9 10.3 13.7 17.2 20.6 245
(35) (70) (105) (140) (175) (210) (250)

—> Pressure MPa (kgf/cm 2 )

V 42 General performance
characteristics

100
90

—>Efficiency (%)
A 0 O N ®
o O O O ©

w
o

Volumetricefficigncy

|_—T Overall efficiency

Z Displacement

.4 Y

/

=

N
JSSA

>4

A

>

4 hedd
Input[powef atde ched
e == —

34 6.9 103 13.7 172 20.6 245
(35) (70) (105) (140) (175) (210) (250)

—> Pressure MPa (kgf/cm 2)

Dead head shaft input

—DH shaft input (kW)

Pag. 30

/ 23,4 types

T
L—
44’6 Type

3.4 6.9 103 134 172 206 24.5
(35) (70) (105) (140) (175) (210) (250)

—> Pressure MPa (kgf/cm 2 )

—> Displacement (I/min)

70 7
60
50
40
30
25

o

— Displacement (I/min)

80
70
60
50
40
30
25
10

— Shaft input (kW)

& — Shaft input (kW)

= N N W W
nun o nn o un

o =
SRR

—Noise level (dB-A)

Noise level* atdistance of 1 mt. from pump*

75
48
et 1 goon
. ce
Y Ty s e
70 = .
\
- (il OO \
65 o A ]
'.l PC cutroff pgriod
\
60 3
55
(0]

o 3.4 69 103 13.7 17.2 20.6
(35) (70) (105) (140) (175) (210)

—> Pressure MPa (kgf/cm 2 )

V 38 Shaft input characteristic

=40
Z
=35
=]
N
2 30
= 25 P
& 20 b e
s P =2
T~ >
10 L —
5 /4
o

o 34 69 103 13.7 17.2 20.6 24.5
(35) (70) (105)(140)(175) (210) (250)

—> Pressure MPa (kgf/cm 2 )

V 42 Shaft input characteristic

=40
§35 75,0 I/min
E "{/ 67,8 I/min
=
< 2 V=
& 20 ‘,// e
tas 14/4‘“&

10 e,

=
5 A
0

(o] 34 69 103 13.7 17.2 20.6 245
(35) (70) (105)(140)(175) (210) (250)

—> Pressure MPa (kgf/cm 2)

Drain volume characteristic

E 16 PC
% 2,3,4Types PCpEriodr period
g 1.2
=2 B i g
S PCpegriod PCpgriod
% 1type
&S 08
T T'PC; eriod
5
0.4 J
/

00 3.4 6.9 103 13.7 17.2 20.6 245
(35) (70) (105) (140) (175) (210) (250)

—> Pressure MPa (kgf/cm ?)

HT 130/A/108 /0413 /E



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

V 38 - V 42 Series Axial Piston Pump - Installation Drawing

V 38 A -V 42 A Pressure Compensator

()

DEC.

Flow Adjustment

| 232

Drain Port:G1/2°

[16.35:-5 §ix40

30.2

~

©22.2 8005
25.08-8.1s

210

TTIT 1
1

L
L

1

©101.6-0.05

Pressure Adjustment

4.5

179

209

Qutlet ®31

Filling Port

13.5*%° |
113.5

72

Inlet @31

V 38 B -V 42 B Multi-Stage Flow & Single-Stage Pressure
Compensator Control (with cylinder)

Pressure Adjustmen

' INe.
[16.35-8 §2x40
—_— 4 Filling Port
o 2 r
Nl
g o o | ;:, 0
- = ]
=1 o Lol B
g N2
=y
- o
Qn P~
p—F
146
Outlet 31, 160 Inlet ®31
198.6
V 38 C - V42 C Two-Stage Pressure & Flow Control
_ O FC
Low Flow Adjustment Low Pressure Adjustment
1 294 58.5 PC
. -, -0, 0 b
pec. High Flow Adjust) _ 51 [J6.3575 §ixd40 Eilling Port High Pressure Adjustment
Drain Port:G1/2" 8 J—\
o 2] 3 i g—
[ 0 -t § g L
Y] "
] e © ] gol 4
& & H N ! B
X ) ‘ 3 o
o o5
= Fan o
e 5 | -4 | - o
Y4 Jd_ el =
14.5 146
198.6 4-M10x1 20,2 Outlet ®31 Inlet ®31
179 160
209 198.6

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 38.

HT 130/A/108/0413/E

Pag. 31



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V 38 - V 42 Series Axial Piston Pump - Installation Drawing

V 38 CG - V42 CG Two-Stage Pressure & Flow Control Type with Remote

Filling Port FC
Low Pressure Adjustment
) L 294 FC
O Low Flow Adj I 8% Remote Pressure Port:PT1/4 High Pressure Adjustment
DEC. ) ! Drain Port:G1/2" : Warning:
High Flow Adjustment - 51 [76.35-0 ¥ x40 = don't adjust
8 8 i
ﬁ: . - & o s
eg| e
T o @
A o [T}
ol a3 o e n o
L S 8 2 s ¥ @
2 : = o
oy - - -
S s s ey 12| 3
& - &4 =5 = @ i
23 — B ~ u i o
F — —f |9 2 ~
—_— Bl
©31 W ] i =
30.2 ——l—-——‘” Outlet ®31 e Inlet ©31
4-M10x186, 179 e 160 e
198.6
209 198.6
V 38 D -V 42 D Solenoid Controlled Pressure Compensating Type
with Unloading Device
FC )
Solenoid Control Valve Low Pressure Adjustment
, 301 58.5 PC
51 [76.35-F B2x40 Filling Port High Pressure Adjustment
Drain Port:G1/2" \Y
Flow Adjustment 18
3 O o 9 g e o INC.
ol e oo| == [
T S .
L g o §
o ]
o [ =
I~ ﬁ-- — o
g -+ =¥ ¢ g
£ £- | - = ~
————=\K
@31 -m- - =
146
30.2 A-L-M Outlel ©31
4-M19x1§/ o 585 Inlet ®31
209 198.8

V 38 DG -V 42 DG Solenoid Controlled Pressure Compensating Type

with Unloading Device & Remote

Solenoid Control Valve

!
O Flow Ad]ustmanN\

DEC.

(L

o_
283

B

| 1

—._1_.._.

! 198.6

58

4-M10x18,

\

] O

I

Filling Port FC
Low Pressure Adjustment
301 PC
. ) - Remote Pressure Port:PT1/4 High Pressure Adjustment
Drain Port:G1/2 Warning:
51 [16.35-8 BEx40 don't adjﬂét
o 18 @
o g B o= |
o @
H (=]
a ) 5 o
d w | 1) @
II o™ o | -
i / s N8 &
{ o b
Fan) = 1 o -
=
b | a1 Ry
T
30.2 L, 14.5 146
T 179 Qutlet ©31 160 Inlet @31
209 198.6

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 38.

Pag. 32

HT 130 /A/108/0413/E

SR



HANSA - TMP s * sl biston punps v series

V 38 - V 42 Series Axial Piston Pump - Installation Drawing

V 38 E -V 42 E Dual Pressure Control

()

INC.
Solenoid Control Valve

FC
Low Pressure Adjustment

, 301 58.5 PC
( "
O P - [16.35:3.88x40  Filling Port High Pressure Adj
Drain Port:G1/2*
: A2t Libatnp oo el 18| \
o[[° 1/ g
o = o .,o;,
8 @ I @
el © - | ©
- E - o o 7
S e 230 ] s g
S - w S
S{ - HlL— = ] P
i) ib - ~
@31 L T——F
146 _|
30.2 A.I» 14.5 Outlet ®31 Inlet @31
4-M10x16, - 160 s
209 198.6

V 38 EG -V 42 EG Dual & Remote Pressure Control

Filling Port
Remaote Pressure Port:PT1/4

FC
Solenoid Control Valve Low Pressure Adjustment

301 PG
EaE High Pressure Adjust
Drain Port:G1/2" . Warning:
51 [16.358 8Ex40 | don‘tadjust
a g}
= = 9 E =
@ | B
o : | W o @
S 2 5 8 Ns ' g
o ]
o ~ [ <l e
‘ b I e ) | o5 h
- - — ﬁ-; =1 = — T f T h
8 i 2 N
' o}
D31 L3
T — 30.2 ‘—|> 14.5 146
— | 4_M10,1§/ 178 = Outlet @3 160 Inlet @31
209 198.6
V 38 F -V 42 F Dual Pressure & Flow Control by Solenoid Operated Valve
FC
Low Pressure Adjustment
O Low Flow Adj 1t t 301 58. PC
i — 9.0 High Pressure Adijl
DEC.  High Flow Adjust. S°'°"°:C_°":°' va:\:; 5 (06358 81%40  Fijjling Port 2
] rain Porl:G 18 —\ O
O g 21 § » = INC.
w2 3
=1 8 o
o ] s o ' d 8
3 L
e —79 / g ® i
L Fant ©
8 = L/ =k s =
“‘nfy = N
P . -1
1
@31
30.2 *L-—f’”- 146
4-M10x16 179 Outlet @31 - Inlat @31
209 198.6
Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 38. ‘g—@

HT 130/A/108/0413/E Pag. 33



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V 38 - V 42 Series Axial Piston Pump - Installation Drawing

V 38 FG - V 42 FG Dual Pressure & Flow Control Type
by Solenoid Operated & Remote Valve

FC

301 Low Pressure Adjustment
!
A Filling Port PC
High Flow Adjustment Solenoid Control Valve Remote Pressure Port:PT1/4 High Pressure Adj
i 58.5
DEC. " l Drain Port:G1/2" ; Warning:
High Flow Adjustment 21 [16.35-% 32x40 1 don't adjust
O :]35 18 El
o 9 3 e
| 2
o S ol | " @
g & af & s
2 = .
ol o) - & T
§} N A i —L_ T s -) e
- - 1 | 2 S
> 51 ~
@31 3
30.2 _.-L 14.5 138
; -
4-M10x186, Outlet @31 s Inlet ®31
179
198.6 209 198.6

V 38 G -V 42 G Remote Pressure Compensator Control

O Flow Adjustment

255.5

{%
D31
4-M10x16/

14.5

" 232.3 Warning:
| 119 don't adjust
ey :
Drain Port:G1/2" 8.3, CiRESie Adifh:,
51 [16.95:8 §ix40
18 -
9 |/ & -
b | [k |
.5 o S %
o uy d
/ e ™ i
— ™ ™
!l -
w0
EARSa ===
& ~<zJ -
| - -

Remote Pressure Port:PT1/4

39

Filling Port

13.5'§ 7
113.5

72

Outlet @31/

Inlet ©®31

V 38 GJ -V 42 GJ Proportional Pressure with Interface

O Flow Adjustment

DEC.

2323

¥

303
flL

s

Drain Port:G1/2"

W

Proportional Solenoid

©22.2 oz

25.08 3.5

/ Pressure Compensator

[16.35-5 88 x40

303
121

i
Pan)
%ﬂ

-

14.5

®31
30.2
4-M10x16, 179
209

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 38.

Pag. 34

©101.6-80s

Outlet ®31/

Pressure Adjustment
Warning:don't adjust

O Filling Port
| ol w
in| ™
o -
y

72

4 \_
160 Inlet ®31

198.6

HT 130 /A/108/0413/E

=D



HA“SA : TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 38 - V 42 Series Axial Piston Pump - Installation Drawing

V 38 GM -V 42 GM Remote Interface (valve not included)

NGB
00 4+, 4+
! & Pressure Adjustment
' 232 00 + ' +
51 Warning:don't adjust
[16.35-3 §2x40
DEC. Drain Port:G 3/8* 18 -
58.5 Filling Port
: 9
[

25.08-81s
1

©22.2 fozs

73
g 587,
| |
|
N @,ﬁq
L% S I 7,
L J
I
+
227
121
13.5°0*
113.5

72

30.2 ""l""‘ﬂ 146
4-M10x186 179 Qutlet @31 180 Inlet ®31
209 198.6

V 38 HL -V 42 HL Load Sensing Compensator

FC
Low Pressure Adjustment
PC
232 119 High P Adj Load Sensing Port:PT1/4
'——-—-
O | 51| 58.5
Flow Adjustment a3 - y 9
——————\ |prainPort:G1/2" | [16.35-8 8 x40 2
—r 18 Filling Port
9 & o |
o3| =3 8
of &
} 8 &
P -E e © 4 [ 2| w
& I ae G o
L] ) ¥
H £ { = 2]
L = —1H:\ W=t T 0 ] L
8 ) =
o0 i e .
® L | S S -~ |
= 31
30.2 a-l»..ﬁ 146
1988 o 4-@/ - Outlet 031 = Inlet ©31
200 198.6

V 38 HK - V 42 HK Proportional Electro-Hydraulic Load Sensing Compensator

2821

PC FC
Proportional Solenoid e 119 58.5 High Pressure Adjustment  Low Pressure Adjustment
Pressure Compensator z .
: . . -0.02 Warning:
O \ Drain Port:G1/2 []6.3575 45 x40 don't adjust
— 51 y
DEG: 8 Filling Port
Flow Adjustment w
ol I I =
® bee B f I—1 -
ol 8
% O : = Sa 3 ! 2w
e o o 3
o - b
o fll | 1 F || .adpon 5 -
P 'W oo m#
@ .
— - —] 2 g
1 R ] %
e
. 262.3 — 14.5 146
. Outlet 209- Drain Port:PT1/4 140 Inlet
hreads code ®31
10:PT(RC)1" J ) 75 160 —
40:G1* Proportional Flow Control 262
S50:NPT1"

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 38. 15"@

HT 130/A/108/0413/E Pag. 35



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

V 38 - V 42 Series Axial Piston Pump - Installation Drawing

V 38 HQ - V 42 HQ Load Sensing Proportional Flow Control

280 PC FC
119 58.5 High Pressure Adjustment Low Pressure Adjustment
Drain Port:G1/2" I 39 Warning:
1 = 8 "
O ) 51 (16.35 9 8x40 - don't adjust
R, 8 Filling Port
Flow Adjustment g § w P
=s| =5 o)
@ o g "
a o 9 - _ I i i
& i i s § ol 2
© | ® ® ?--ﬁ [ | J = &l -
= © — - L
-+ -4 —-o- kD=
| AN 2 ¢
L | ~Q
—r
‘ 262.3 Outlet | 145_5—‘1— 145 146
f Threads code 209 5 186 —_—
10:PT(RC)1" o051
40:G1* Proportional Flow Control 262.3 Ot B
50:NPT1"
V 38 -V 42 Thru Drive Option SAE A (spigot diam. 82,55)
V2 < N )
O 252 283 Pressure Adjustment
. 51 I
s S & FlowAdjustment | prainPortGuiz [+ = [16.35:4 §x40 O o FillngPon
o) § 2 INC. '-I
o a— Y 2 i
ol w8
) o = s © . I Y @
[ o [ = o| ~ w =
I o i $ Y = & "
| il I A = s )
s ] - = o
082.559% | \2-M10xP1.5 i L | — }
2200 30.2 = | 145
106 174 146
Links D:SAE A ©82.55 231 198.6
V 38 - V42 Thru Drive Option SAE B (spigot diam. 101,6)
Vieg[ 1L —OOEI L
O 232 8. Pressure Adjustment
’ 51 . )
" . Flow Adjustment | Drain Port:G1/2" 18 [16.35-3 fEx40 O Filling Port
\ s | § 2 INC. .
@:% o 2 g
ol g
-g- g o " | %" 2
2 > / 8 = @l =
ot N\ bty 3 2 Sb-
~ || <..mfy | = d by
! ' ' el
" o
l»101.6°0 % 2-M12xP1.75 =© e 4 i
146 174 * l " 146
Links E:SAEB ©101.6 231 128.6
Type | A| B| C|CG| D [DG| E |EG| F |FG GJ|GM| HL| HK|HQ

O

O

Ol®

Thru Drive Option

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 38.

Pag. 36

HT 130 /A/108/0413/E



OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

HANSA - TMP

V 38 - V 42 Series Axial Piston Pump - Installation Drawing

V 38 - V 42 Axial Port

()

INC.

Pressure Adjustment

232

V20T {3 O

O illing P
[16.35°0 i x40 Filling Port
Drain Port:G1/2" —_—

Flow Adjustment

25.08-8.15

©22.2 fozs

210

“ E JJ N |..
= i ﬁg
Infet o Il b=y ©
30. 30.2| Outlet
Threads code Threads code + e
10PT(RCH-1/4" 66.6 10:PT(RC)1" 8
40:G1-1/4" priey I 1
50:NPT1-1/4" 204 50:NPT1 L it
|l 1 - |
B:axial port | 209 198.6
241

V 38 -V 42 4 Connection for Axial Port

(X2 {<T | 7 | I |

Pressure Adjustment

INC.
o O | - =2 06,958 o Filling Bort
Drain Port:G1/2"
DEC. - a ]
Flow Adjustment 2 03 fé |
i =
Inlet 2 @@ © Qutlet & &
Threads oode_-— e | Fo —| Threads code o E
peroie| Lo ollo o] iyl
50:NPT1-1/4" 50:NPT1" o @
1 S
224 | % S
Pi de B2:4 tions for axial port | 14:5 146
T 213 4
241 224
Type A| B| C|CG| D|DG| E |[EG| F |[FG| G |GJ|GM| HL|HK|HQ
Axial Port Option
V 38 -V 42 Splined Shaft V 38 -V 42 Hydraulic Flange
4:‘5 ;? Outlet Inlet
30.2 a2 30.2 I
o | | | |
& - i 3P :
Hig | HIS
L1l L] &

] ]

Outlet

@ @

Inlet

23
33.5
S:13T DP16/32

27
38

S1:15T DP16/32

- For shaft detail see page 38.

Threads code
10:PT(RC)1"
40:BSPP(G)1"
50:NPT1"

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

HT 130/A/108/0413/E

Threads code
10:PT(RC)1-1/4"
40:BSPP(G)1-1/4"
S0:NPT1-1/4"

Pag. 37



HANSA - TMP s ™ sl piston punps v series

V 38 - V 42 Series Axial Piston Pump - Installation Drawing - Shaft Option

Parallel Shaft

58,5
ol
] 26,34 %35
OO
7 <
i}
QU]
773 S
_——ft - —— ] ~r — - + -+
© i |
T
BLR,2 s
9
Splined Shaft Spline Characteristics
Splined shaft type S SAE J 498 B
13 theet
16/32 DP
Involute spline 30°
Splined shaft type S1  SAE J 498 B
I SN e 15 theet
S = 16/32 DP
Involute spline 30°
Splined shaft type S3 SAE J 498 B
13 theet (lenghtening)
16/32 DP

Involute spline 30°

Pag. 38 HT 130/A/108 /0413 /E



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

V 50 -V 70 Series Axial Piston Pump - Technical Specifications

Typical performance characteristics

*Input speed: 1,800 n/min.
*Oil: ISOVG32
*QOil temperature: 50°C

£ =
D — =
V 50 General performance £3
. o=.c
characteristcs S=e
& 2
100 = — N
Volumetric efficiengy
20
l/ Overall gfficiency
80 /
< 70 /‘ -
& 60 / 4
2 s0 Displacement 1004 50
& 40 I’ 80 - 40
t 30 = 60 - 30
p -1
20 xS R 404 20
" = fmebreonerggeepen] 20710
% 34 65 103 137 172 206 °°°
(35) (70) (105) (140) (175) (210)

—> Pressure MPa (kgf/cm 2)

=
s =
V 70 General performance ££3
P £c
characteristic s=a
100 : — o »
Volurpetirc |efficigncy T T
90
80 __L—T Operall|efficigncy
— 70 ‘/
= / Digplacement 140
= 60 /’ 120
§ 50 I 100 50
£ a0 L= 5040
T l NS /
30 =3 60 - 30
JO
20 S 404 20
10 ‘/’ Tt pofver { dead head 20 10
% 34 69 103 137 172 206 °°°
(35) (70) (105) (140) (175) (210)
—> Pressure MPa (kgf/cm ?)
Dead head shaft input
= 4.0
=
= 35
o /
2
= 3.0 =
E 25 ——
; 2.0 l/‘ 2,3typels
a 2 "
|
t s
1.0
0.5
% 3 13 1

—> Pressure MPa (kgf/cm 2)

HT 130/A/108/0413/E

Noise level*

at distance of 1 mt. from pump*

75 o
TS
. o\'ao‘)me
Wa* \s/f"‘/ v
= 70
s |
=
= o
Q 65
<@ )
% ut-off period
2 60
55
(0]
o 34 6.9 10.3 13.7 17.2 20.6
(35) (70) (105) (140) (175) (210)

—> Pressure MPa (kgf/cm 2)

V 50 Shaft input characteristic

50
as
= 40
S
= 35 -
Z 30 \‘é\/
c 2y S
£ 25 :
=
s ﬂg‘“—m
T 15 7/)‘-7 -
10 /A'/ i
e CE L
5 —
% 32 69 103 137 172 206
35 (70) (105) (140) (175) (210)

—> Pressure MPa (kgf/cm 2)

V 70 Shaft input characteristic

50

45 ]
= 40 <A
Z g =
2 30 SASIA A
2 P
& 25 ’}/‘&
& 20 — ///@/‘%
™os A /,// ol

10 7 /&/ Sajmin

=
El o —
0032 695 103 137 172 206
(35) (70) (105) (140) (175) (210)

—> Pressure MPa (kgf/cm 2 )

Drain volume characteristic

4.5
SJYPES PCgeriod

4.0
35 ?" PCpelriod PCpgriod

3.0

2.5
2.0

— Drain volume (I/min)

1.5

=
1.0 o

.,

0.5 .
0]

o 34 69
35 (709

10.3
(105)

13.7
(140)

17.2 20.6
(175) (210)

—> Pressure MPa (kgf/cm 2 )

Pag. 39



HA“SA - TMp : OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
sr

AXIAL PISTON PUMPS V SERIES

V 50 - V 70 Series Axial Piston Pump - Installation Drawing

V50A-V 70 A Pressure Compensator

Pressura Adjustment
306 57 O
' [17.94 3 8xds ke 3
Flow Adjustment 73, /7
Drain Port:G 3/4" - | B . 74 Filling Port
DEC. % ? K
~ @
T wn
e © —_
@ | @
w| = o @
L] g o -
B bl ]
— N z
e =]
| 5.7 e Bl 0%
256.5
300 Outlet ©38 208 Inlet ©38
261.5

V 50 B -V 70 B Multi-Stage Flow & Single-Stage Pressure
Compensator Control (with cylinder)

" INC.
73 [17.94:8 8ix45

..E.| Filling Port

Drain Port:G 3/4" -l

‘ 511 57 Pressure Adjustment O

K

é g 7] @D
T o2 EE
c‘: o -
2l S
Qutlet ©38 208 Inlet ©38

261.5
V 50 C -V 70 C Two-Stage Pressure & Flow Control Type
144 Cow P d
Low Flow Adjustment Low§ A

84 /p.:—‘—
409.4 57 )
0 " /H.Lub_ELEEEu.EB.Aﬂ.LUﬂEEIE.ﬂL
Drain Port:G 3/4" LE D17.94°4 fixa5 "
-T——-33 s Filling Port

DEC.

High Flow Adjustment

mg o3 = INC.
I o v ¥
= w
@
.:,. | 8 8 ol
) |
g —He ® = a -
=] ee 1
gt -~ 1P — 5
AR 8
®38 [
| 24
4—M12x25/ 35.7
256.5
300 Outlet ©38, 208 Inlet ©38
261.5

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 45. %@

Pag. 40 HT 130 /A/108/0413/E



HANSA - TMP s * sl biston punps v series

V 50 - V 70 Series Axial Piston Pump - Installation Drawing

V 50D -V 70 D Solenoid Controlled Pressure Compensating Type
with Unloading Device

O Solenoid Control Valve
Flow Adjustment
ke 306
57
N - —
INCc.  Pressure Adjustment Drain Port:G 3/4" | _73 [17.94-3 §ix45 T Filling Port
10|/ =| = )
| wn
= = o @
g = S o 3
e+ 3 @
jE' S = (5 8
R (S (-, =
| =T
115
24
s 181
Outlet ®38 208 Inlet ©38
261.5
V 50 F -V 70 F Dual Pressure & Flow Control by Solenoid Operated Valve
229
) L 409 57 |——-—1
Low Flow Adjustment PC FC
73 High Pressure Adjustment  Low Pressure Adjustment
Solenoid Control Valve

INC.
Filling Port

DEC. High Flow Adjustment

f

84

Drain Port:G 3/4" [17.94°0 fix45

(=]

I40I

()

©31.75-Y 020
35.35.82

143.8

303.8

e | 1=
®127-fos

4-M12x25 35.7 *

115
261.5 . 256.5 Lid Inlet
300 Outlet ®38 208 38

261.5
V 50 G -V 70 G Remote Pressure Compensator Control
Warning:
s duna'lr::jgsi
Drain Port:G 3/4* Pressure Adjustment Remote Pressure Port:PT1/4

e 180.5 57
- 73 [17.94 0 §2x45
Flow Adjustment Filling Port
DEC. [ 331, ]
T | |

—
(=]

®31.75-0025
35.35.02
1

119
133.5

293.5
83
69,9
p=t=
1 ]
@
oo
-
¥
®127 Bos
293.5
\L::
@\
= + -
184
100

S
1115
a-mizxes/ |11 as7 - e
256.5
Qutlet ®38 208 Inlet ©@38
300 261.5

Notes: - Inlet - Outlet port are for standard rotation (clockwise).

- For shaft detail see page 45. 6‘@

HT 130/A/108/0413/E Pag. 41



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

AXIAL PISTON PUMPS V SERIES

V 50 - V 70 Series Axial Piston Pump - Installation Drawing

V 50 GJ -V 70 GJ Proportional Pressure with Interface

Proportional Solenoid

306

Pressure Compensator
2 Wamning:  pragsyre Adjustment
33 don’t adjust
= O [17.94 - fEx45 .
DEC. 1 2 g
Flow Adjustment _] L QE o
‘ 5
L -
= w
[y ]
. e « =
o~
© - ©
o — L) b\ o;
I @
%I | 9 g 'R_
[ B
®38 -
’ 24
4-M12x25/ 337
256.5
300 Outlet ®38 208 Inlet ®38
261.5
V 50 GM -V 70 GM Remote Interface (valve not included)
NGB
: o :
8 it 2 Pressure Adjustment
' 306 Warning:don't adjust
O Z Filling P
[17.94-% 45 illing Port
Flow Adjustment . 33 Bx 74
DEC. Drain Port:G 3/4* 57 -
- — 4 x N _
1w G| <2
1 R E: 2
= w - got
g ] o - o 53
= -4 Pl -
o :a| T K X
3 Y :
%} -3 £ — & g
) a
©38 |
| 24
4-M12x25 =57
E— ! 256.5 Outlet ©38 208 Inlet ©38
300 261.5
V 50 HL -V 70 HL Load Sensing Compensator
- 306 PC FC
1. 1805 57, HighP Adj Low P Adi
Drain Port:G 3/4" 73, .
Load sensing Port:PT1/4
Flow Adjustment
DEC. [17.94:§ §ix45
| 33 ‘:— Filling Port
[11q/ =| = 1
' K 8 ]
o 887 _ de 53
s z R
2 g —1/9 @ LL D‘g g il
%‘{ ] 9 - 5 1 e
D ; B =) €:/ n .8.
/ L 5
©38 =i
35.7 -! 24 011
4-M12x25 :
256.5 181
300 Outlet ®38 208 Inlet ©38
261.5

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 45.

Pag. 42

HT 130 /A/108/0413/E

SR



HANSA - TMP

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT
AXIAL PISTON PUMPS V SERIES

V 50 - V 70 Series Axial Piston Pump - Installation Drawing

V 50 HK - V 70 HK Proportional Electro-Hydraulic Load Sensing Compensator

184
FC I

454 PC
180.5 57 High Pressure Adjustment  Low Pressure Adjustment
Proportional Solenoid [ o Warning:
O Pressure Compensator I don't adjust
Drain Port:G 3/4* | a3 (17.94-3 Bxds
| [Cio| M52 57— 1 Filling Port
—M ! el
| HE:
| =2
3 ' 5l 8
1 = 8 K
o | & @
- @ o
© o I ‘ oL b
— — P~
iﬂ & A AR T8
(=N~} e / 2 & 2
1 =T
24 / of1s
i
Outlet 300 J§1
Threads code
t 314.8 10:PT(RC)1-1/4" ; 321.4 Drain Port:PT1/4 134 -—
40:G1-1/4" 80 208
50:NPT1-1/4" Proportional Flow Control 314.8
V 50 HQ -V 70 HQ Load Sensing Proportional Flow Control
421 ing:
184 Warning:
L 180.5 37 don't adjust
PC FC
O Drain Port:G 3/4* 73, High Pressure Adjustment Low Pressure Adjustment
- 33
-0, 02
DEC _'I 10 [17.94:7 5ix45
S | 4 7 Filling Port
Flow Adjustment 1 ‘ 5| o
2 q | r‘{)- E -] T
= o i
al o
o ®©
2|8 ] . § 2 2 58
o - CXE) I i g o - 2] ~
46+ €= - =t — e
il oo 5 ‘Al 1s
|—H_ L =] __S- -
==
24
104 | _"l_"_ 118
Outlet } 300 At
314.8 Threads code 321.4
! 10:PT(RC)1-1/4" 208
40:G1-1/4° 314.8
50:NPT1-1/4"
V 50 - V 70 Splined Shaft V 50 - V 70 Hydraulic Flange
55.5 : I
10 Outlet Inlet
35.7 |_gg_| 35.7 '_ggl
D @ ) @
———— o @ o
— o @
14 © ©
Threads code Threads code
10:PT(RC)1-1/4" 10:PT(RC)1-1/2"
22.9 40:BSPP(G)1-1/4" 40:BSPP(G)1-1/2"
S50:NPT1-1/4" 50:NPT1-1/2"
45.5

S:14TDP12/24

Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 45.

HT 130/A/108/0413/E

Pag. 43



HANSA - TMP s ™ sl piston punps v series

V 50 - V 70 Series Axial Piston Pump - Installation Drawing

V 50 -V 70 Thru Drive Option SAE A (spigot diam. 82,55) - SAE B (spigot diam. 101,6)

KV D I ) I )
KV O 3| InC.

306 57 Pressure Adjustment
73 -0, 08
O Flow Adjustment Drain Port-G 3/4* BIELE
DEC. - 33 74 Filling Port
13T DP 16/32 13T DP 16/32

D31.75 008
35.35 .82

-, 9
8
o] Gl v
un| o= o "
i 8 © ]
G 0 = (=)
) @ & e
©101.6°§% 2-M12xP1.75 *'L

©B82.55 4%

256.5

2-M10xP15 Links D:318

Links E:323

Links D:SAE A ©82.55
E:SAEB ©101.6

Type | A| B| C |CG DG| E |EG| F |FG
O OO0 10|0O

Thru Drive Option

O

GJ |GM| HL| HK|HQ

O|®
O
O
O
@)
@)

V 50 -V 70 Axial Port

VEOOOEO—-O0000 ()

INC.

306 57 Pressure Adjustment
Inlet Outlet e
Threads code Threadscode  Flow Adjustment 73 [17.94°5 68x45
10:PT(RC)1-1/2" 10:PT(RC)1-1/4" Drain Port:G 3/4* z et Filling Port
40:G1-1/2" 40:G1-1/4" 10 “3
50:NPT1-1/2" 50:NPT1-1/4" t ]

DEC.

©35.35.82

w
e
-
©

133.5

—

NP
\N

12780
233.5
11
o
L
R
fp\@
..—k_ 1
184§ 3
0

10

===
269 "L"‘E 115
T 1

357 axial port 295.5 181
300 261.5
Pipe code B:axial port 357
Type | A|B| C|D|F | G|GJ|GM HL|HK|HQ
QIO[Q 0|00 |Q|0]0
Axial Port Option
Notes: - Inlet - Outlet port are for standard rotation (clockwise).
- For shaft detail see page 45. 1{"@

Pag. 44 HT 130 /A/108/0413/E



HANSA - TMP o ™ sl piston punps v series

V 50 - V 70 Series Axial Piston Pump - Installation Drawing - Shaft Option

Parallel Shaft

57
53.8
n7,94 8 x38
o
) g
™
Vo
<~ ™~ |
- ) . QU _ I
J s T
i
$31,7 5
10
Splined Shaft Spline Characteristics
Splined shaft type S SAE J 498 B
14 theet
12/24 DP
Involute spline 30°
Splined shaft type S1  SAE J 498 B
17 theet
AR D S I o 12/24 DP
© ) Involute spline 30°

10

HT 130/A/108/0413/E Pag. 45



HANSA - TMP s ™ sl piston punps v series

V Series Axial Piston Pump - Installation Drawing
Tandem Pump (Multi-Option for Tandem Pump)

Pump 1 | V15(V18)| V23(V25) V23(V25)| V38(V42) V38(V42) V38(V42) V50(V70) V50(V70) V50(V70)
Pump?2 V15(V18) V15(V18) V23(V25) V15(V18) V23(V25) V38(V42) V15(V18) V23(V25) V38(V42)

©19.05 | ©22.22 ©22.22 ©22.22 02222 02222 ©31.75 ©31.75 ®31.75
21.15 | 25.08 = 25.08 25.08 | 25.08 | 2508 | 3535 3535 | 3535
©82.55  ®101.6 ®101.6 ®101.6 ®101.6 ®101.6 ®127 @127  ®127

A | G3/8" | G3/8" G3/8" | G3/8" G3/8" G1/2" @ G3/8" G3/8" @ G1/2"
B G3/8" | G3/8" | G3/8" | G1/2* @ G1/2" | G1/2* | G3/4"  G3/4" | G3/4"
C 57.45 57.45 | 61 5745 = 61 | 73 | 5745 61 73
D 35.1 351 = 524 351 | 524 | 587 | 351 | 524 | 587
E 35.1 351 | 26.2 351 | 262 | 302 | 351 | 262 | 302
F 35.1 524 | 524 58.7 | 587 | 587 | 69.9 = 69.9 | 699
G 35.1 262 | 26.2 3.2 = 8.2 | 3.2 | 3.7 3.7 857
- M8x20 | M8x20 | M10x16 | M8x20 = M10x16 = M10x16 M8x20 M10x16 = M10x16
[ M8x20 | M10x16 = M10x16 = M10x16 = M10x16 = M10x16 M12x25 M12x25 M12x25 |
J 147 147 | 170 147 | 170 | 179 | 147 | 170 | 179
K 147 170 170 179 179 179 | 2565 = 256.5 | 256.5
L 332 369 = 402 378 | 401 | 410 | 464 | 493 | 502
M 382 419 | 455 428 | 454 | 465 = 515 = 546 | 555
N 48 48 | 51 48 | 51 | 51 | 48 | 51 | 51
o) 48 51 | 51 51 | 51 59 | 73 73 73
P | 6 9 | 9 9 | 9 | 98 | 10 | 10 | 1o
Q | 4.76x32 | 6.35x40 6.35x40 | 6.35x40 6.35x40 = 6.35x40 @ 7.94x45 7.94x45  7.94x45
R 13 14 | 14 145 | 145 | 145 24 24 24
S

T

U

v

W

X

Y

z

®25 ©25  ©25 ®31 | ©31  ®©31 038 038 038
®25 ©25 025 ®31  ©31 | ©31 | ©38  ©38 038
106 146 | 146 146 | 146 | 146 | 181 | 181 | 181
131 | 146 146 | 160 160 | 160 | 208 208 208
165 182 | 182 198.6 | 198.6 | 198.6 | 261.5 261.5 | 2615
A1 44 39 39 | 39 39 39 74 | 74 74
A2 31.2 31.2 | 312 31.2 | 312 | 312 | 40 | 40 | 40
A3 5 5 5 5 5 5 | 8 | 8 | 8
A4 84 110 | 110 121 | 121 | 121 | 119 | 119 | 119
A5 11 135 135 135 | 13.5 135 18 | 18 | 18
A6 44.5 585 | 585 585 | 585 | 585 | 57 | 57 | 57
A7 160 193 | 193 210 | 210 | 210 | 2335 2335 | 233.5
A8 91.5 93 | 93 113.5 | 1135 | 113.56 | 1335 | 133.5 | 133.5
A9 60 68 68 72 72 72 100 100 100
Pump 2 Pump 1
O Drain Port B e © AB NG
Drain Port A N taP
DEC. o

A2

Pressure Adjustment
A3 L
Filling Port
Flow Adjustment

— S T | A5

L ‘ L}

A8

A5:f®

TLIT 1
[~
AT

(2
! <

\Inlet W

[

J K Qutlet V,

L I O

Pag. 46 HT 130/A/108 /0413 /E



HANSA - TMP

AXIAL PISTON PUMPS V SERIES

OPEN LOOP CIRCUIT VARIABLE DISPLACEMENT

Piping Connection Flanges

4-4D|

N
D &

Serial No.

Bore No.

‘- O

Re"H—{

&

BiE

—
L

Same appearance

Piping smaller size(special product)

l— G —»
S
QO-rin
B E{_ ’
T
¢ |
- e
g

— C—>

L~ O-ring

B-
AVAYAY

8/

DK

90° Flange
Piping type

i

A:Screw thread connecting type PT or NPT
B:Welding type

C:Inserted welding type(4-hole thread)

D:Inserted welding type(Non-oll sealing)
E:Blind hole F:Blind hole(4-hole thread)
G:Middle thread(4-hole thread)

O-Ring

Flange Port Dimensions (mm.) | Proper Bolts
Mool |sze [ A T B [ [ D[ E | F[ G [ A 4 [ K[ L |82 i&8%s ]
F3-03-WA 3/8 e A e ETE
F3-03-WB 78] 1255] 9 | —-
F3-03-A | 1, 54 | 86 | 21 | 11 [ 21— |M10| 15 | 14 | G25 | M10x35 | 250
F3-03-B 222 16 [ 11 | ——
F3-06-WA| =T EE
F3-06-WB 21 222 16 | 11 | === 14 M10x35
M10
F3-06-A | 5/, S8 | 40 o] W [ —_[ 28 [——| 354 20 s | 99 Pnoan | =20
F3-06-B 27 27.2] 20 | 12 | ——- 14 M10x35
F3-08-WA 3/4 e |asN =g
F3-08-WB 27.2| 20 | 12 | -——
2
F3-08-A | | 68 | 48 | 27 135 "1 oo - 1 M12 | 25 | 18 | G35 | M12x45 | 250
F3-08-B 345| 25 | 14 | —
F3-10-WA| S| ai==cin]
F3-10-WB 3845| 25 | 14 | —
: M12
F3-10-A | 76 | 56 | 27 (18.5 o — T 315| 18 [ G40 | M12x45 | 250
F3-10-B $ 43.2|31.5[ 16 | ——
F3-12-WA| — 816 —| 1%
F3-12-wB| * 43.2(31.5| 16 | ——-
M16
Fa-12-A | . 92 | 65 | 35 | 18 [ o — il 375| 25 | G50 | M16x60 | 250
F3-12-B g 49.1(37.5[ 18 | ---
F3-16-WA| ., — 485 —=| 1%
F3-16-WB| ? 49.1(37.5[ 18 | -~ 25
M16
Fa-16-A | 00| 73 | 35 | 18 1,51 T, 50 [—q | G60 | M16x60 | 250
F3-16-B 61.1|475| 20 | — 25
F3-20-WA 2 AR e ||
F3-20-WB 61.1|47.5| 20 | ———
M20
F3-20-A | ,, 128 | 92 | 44 | 22 | 5 2t 60 | 30 | G75 | M20x75 | 250
F3-20-B £ 77.1| 60 | 22 | ——
F3-24-WA| . R R NS
F3-24-WB| “? 44 77.1| 60 | 22 | ——— 36
M
Fa-2a-A | , 140 103 — o 24 1T T 3 22| 75 [ | G85 | M22x80 | 250
F3-24-B 44 90.0| 71 | 25 | ——— 36

HT 130/A/108/0413/E

Pag. 47



HANSA - TMP s ™ sl piston punps v series

Piping Connection Flanges

|
|
!
|

L N—

v/

Rc"L"

L-4-$hG ) O-ring Jr O-ring 1
[ / v

*
m
v

1/

/AR
L
ol T g
| DO >

~{7N
2

& & = =2
4-Socket Hexagon Bolts KJ lﬂ 7/////
F5-10-WA-90

SerialNo.ccccccaaad ! - s - sl 90° Flange
! ! L e e e o g B S i o e Piping type
__________________ I I
Som He: . A:Screw thread connecting type PT or NPT
Same appearance : B:Welding type

Piping smaller size(special product) C:Inserted welding type(4-hole thread)
D:inserted welding type(Non-oil sealing)
E:Blind hole F:Blind hole{4-hole thread)
G:Middle thread(4-hole thread)

Flange Port Dimensions (mm.) O-Ri Iy
Model sel © [ D] e[ ET G J 2 o Bl B e ) B “még’?m’ (S8 1176) |kgficm]
Fa-os-ws| ¥® = e
FS— 0; " 40 54 (17.5|38.1| 8.8 30 10 _1;2_ : 13 P22 M8x40 | 250
—2de 1/2 =]
F5-04-B = Rl
F5-06-WA 1/2 1| e |
FFsgogg“";B 48 | 65 |22.2|47.6| 11 30 15 ;;; 12 127.7! 49 | G30 | M10x45 | 250
06— " e [ e
F5-06-B | > —— | 12 | 27.7
F5-08-WA [ 5/, Y| T e
Flfs'ogg"'\ga 55 | 70 |26.2|52.4| 11 30 15 _:_ _1_2_ 2_7__7 26 | G35 | M10x45 | 250
F5-08-B L —— | 14 [34.5
F5-10-WA | 1 =
ESCI0-WE 64 | 80 |30.2|58.7| 11 | 30 | 17 ——1+ 141845} 35 | G40 | M10x50 | 250
ES—10-A |4 T [ ||
F5-10-B s --—— | 16 | 43.2
F5-12-WA| . e e e
4 ———
e 72 | 94 [35.7 69.9|13.5| 30 | 17 —7 16 1432} 38 | G50 | M12x50 | 250
o 7 | =
F5-12-B iz - 18 | 49.1
— — "1‘ ——— ———
Eg 13 xg % 1z e a5 1] %8 | @60 250
F_ 1‘ . 85 | 102 |42.9 |77.8| 13.5| 30 17 = : M12x50
- L 2 =1 =1 51 | @85 175
F5-16-B = e
F5-20-WA| S
e 102 | 114 [50.8 |88.9| 13.5| 40 | 17 —1+2218L1} 63 | G75 | M12x60 | 175
F6-20-A | ,, s
F5-20-B z ——| 22 | 77.1
F5-24-WA| . 50 e == M16x70
F5-24-WB | “? 38 — | 22 [77.1 M16x55
= = 116 | 135 |61.9 [106.4| 17.5 — 17 5 T | 76 |G8s —=—or 8B
F5-24-B 38 — ] 25 | 90 M16x55
F5-28-WA| 4 50 S s M16x70
F5-28-WB 38 — | 25 | 90 M16x55
F5-26-A | .. 134 [ 153 (69.9 |120.7| 17.5 — & 17 o e 88 (G100~ =" 35
F5-28-B 2 38 —— | 28 |102.8 M16x55
F5-32-WA| ., 50 e M16x70
F5-32-WB = 38 ——= M16x55
S : 150 | 162 |77.8 |130.2| 17.5 17 > 101 (G116 o~ 36
E5-32-B 38 ———113.5/115.5 M16x55

Pag. 48 HT 130 /A/108/0413/E



As HANSA-TMP has a very extensive range of products and some products
have a variety of applications, the information supplied may often only
apply to specific situations. If the catalogue does not supply all the
information required, please contact HANSA-TMP.

In order to provide a comprehensive reply to queries we may require
specific data regarding the proposed application.

Whilst every reasonable endeavour has been made to ensure accuracy
this publication cannot be considered to represent part of any contract,
whether expressed or implied.

HANSA-TMP reserves the right to amend specifications at their discretion.

Dutch Hydraulic Consultants BV Tel. - +31-(0)6-83695868
Achterweg ZZ 8 Mail . info@dhc-hydraulic.nl
3216 AB Abbenbroek Web - www.dhc-hydraulic.nl
Nederland




